

8.3 Simplify radicals HW

p 420 / 1-41, odds

$$\begin{aligned} \textcircled{3} \quad & \sqrt[3]{2187} - 2\sqrt[3]{24} \\ & \sqrt[3]{27 \cdot 81} - 2\sqrt[3]{8 \cdot 3} \\ & 3\sqrt[3]{27 \cdot 3} - 2(2)\sqrt[3]{3} \\ & 9\sqrt[3]{3} - 4\sqrt[3]{3} \\ & \boxed{5\sqrt[3]{3}} \end{aligned}$$

$$\begin{aligned} \textcircled{5} \quad & \frac{3}{2\sqrt{2}} + \frac{5\sqrt{2}}{4} \\ & \frac{3\sqrt{2}}{4} + \frac{5\sqrt{2}}{4} = \frac{8\sqrt{2}}{4} \\ & = \boxed{2\sqrt{2}} \end{aligned}$$

$$\begin{aligned} \textcircled{7} \quad & \frac{12}{\sqrt{6}} + \sqrt{6} \\ & \frac{12\sqrt{6}}{6} + \sqrt{6} = \boxed{3\sqrt{6}} \end{aligned}$$

$$\begin{aligned} \textcircled{9} \quad & 7\sqrt{3} - \frac{12}{\sqrt{3}} + \sqrt{75} \\ & 7\sqrt{3} - \frac{12\sqrt{3}}{3} + 5\sqrt{3} \\ & = \boxed{8\sqrt{3}} \end{aligned}$$

$$\begin{aligned} \textcircled{11} \quad & (\sqrt{7} + \sqrt{2})^2 = \\ & 7 + 2\sqrt{14} + 2 \\ & \boxed{9 + 2\sqrt{14}} \end{aligned}$$

$$\begin{aligned} \textcircled{13} \quad & (2\sqrt{5} - 3)^2 \\ & 20 - 12\sqrt{5} + 9 \\ & \boxed{29 - 12\sqrt{5}} \end{aligned}$$

$$\begin{aligned} \textcircled{15} \quad & 5 - 3 = \boxed{2} \\ \textcircled{17} \quad & 12 - 2 = \boxed{10} \end{aligned}$$

$$\begin{aligned} \textcircled{19} \quad & (6\sqrt{7} + \sqrt{15})(\sqrt{7} - \sqrt{3}) \\ & 6(7) + \sqrt{105} - 6\sqrt{21} - \sqrt{45} \\ & 42 + \sqrt{105} - 6\sqrt{21} - 3\sqrt{5} \end{aligned}$$

$$\begin{aligned} \textcircled{21} \quad & \frac{2}{\sqrt[3]{9}} \cdot \frac{\sqrt[3]{3}}{\sqrt[3]{3}} = \frac{2\sqrt[3]{3}}{\sqrt[3]{27}} \\ & = \boxed{\frac{2\sqrt[3]{3}}{3}} \end{aligned}$$

$$\begin{aligned} \textcircled{23} \quad & \frac{4}{\sqrt[4]{32}} \cdot \frac{\sqrt[4]{8}}{\sqrt[4]{8}} = \frac{4\sqrt[4]{8}}{\sqrt[4]{256}} \\ & = \boxed{\sqrt[4]{8}} \end{aligned}$$

$$\begin{aligned} \textcircled{25} \quad & \frac{5}{\sqrt[6]{1024}} = \frac{5}{\sqrt[6]{64 \cdot 16}} \\ & = \frac{5}{2\sqrt[6]{16}} \cdot \frac{\sqrt[6]{4}}{\sqrt[6]{4}} = \frac{5\sqrt[6]{4}}{2\sqrt[6]{64}} \\ & \frac{5}{\sqrt[6]{1024}} \cdot \frac{\sqrt[6]{4}}{\sqrt[6]{4}} = \frac{5\sqrt[6]{4}}{\sqrt[6]{4096}} = \boxed{\frac{5\sqrt[6]{4}}{4}} \\ & = \frac{5\sqrt[6]{4}}{4} \leftarrow 2 \end{aligned}$$

$\frac{35}{105}$

$$\textcircled{27} \quad \frac{7}{\sqrt[4]{49}} \cdot \frac{\sqrt[4]{49}}{\sqrt[4]{49}} = \frac{7\sqrt[4]{49}}{\sqrt[4]{2401}}$$

$$\rightarrow = \boxed{\sqrt[4]{49}}$$

$$\textcircled{29} \quad \frac{1}{(\sqrt{5}-1)} \cdot \frac{(\sqrt{5}+1)}{(\sqrt{5}+1)}$$

$$= \frac{\sqrt{5}+1}{5-1} \Rightarrow \boxed{\frac{\sqrt{5}+1}{4}}$$

$$\textcircled{31} \quad \frac{4}{(\sqrt{7}+\sqrt{3})} \cdot \frac{(\sqrt{7}-\sqrt{3})}{(\sqrt{7}-\sqrt{3})} = \frac{4(\sqrt{7}-\sqrt{3})}{7-3}$$

$$= \boxed{\sqrt{7}-\sqrt{3}}$$

$$\textcircled{33} \quad \frac{(\sqrt{3}-1)}{(\sqrt{2}-1)} \cdot \frac{(\sqrt{2}+1)}{(\sqrt{2}+1)}$$

$$\frac{\sqrt{6}-\sqrt{2}+\sqrt{3}-1}{2-1} = \boxed{\sqrt{6}-\sqrt{2}+\sqrt{3}-1}$$

$$\textcircled{35} \quad \frac{(7\sqrt{2}+3)}{(7\sqrt{2}-3)} \cdot \frac{(7\sqrt{2}+3)}{(7\sqrt{2}+3)}$$

$$= \frac{7^2(2) + 42\sqrt{2} + 9}{7^2(2) - 9}$$

$$= \frac{107 + 42\sqrt{2}}{89}$$

$$\textcircled{37} \quad \frac{(1 + \frac{1}{\sqrt{3}})(\sqrt{3})}{(1 - \frac{1}{\sqrt{3}})\sqrt{3}} = \frac{(\sqrt{3}+1)(\sqrt{3}+1)}{(\sqrt{3}-1)(\sqrt{3}+1)}$$

$$= \frac{3 + 2\sqrt{3} + 1}{3-1} = \frac{4 + 2\sqrt{3}}{2}$$

$$= \boxed{2 + \sqrt{3}}$$

$$\textcircled{39} \quad \frac{12}{((2+\sqrt{3})-\sqrt{7})} \cdot \frac{((2+\sqrt{3})+\sqrt{7})}{((2+\sqrt{3})+\sqrt{7})}$$

$$= \frac{12(2+\sqrt{3}+\sqrt{7})}{(2+\sqrt{3})^2 - 7}$$

$$= \frac{12(2+\sqrt{3}+\sqrt{7})}{4+4\sqrt{3}+3-7}$$

$$= \frac{\cancel{12}^3(2+\sqrt{3}+\sqrt{7})}{\cancel{4}\sqrt{3}} \cdot \frac{(\sqrt{3})}{\sqrt{3}}$$

$$= \boxed{\sqrt{3}(2+\sqrt{3}+\sqrt{7})}$$

$$\textcircled{41} \quad \frac{1}{(\sqrt{3}+\sqrt{2})-\sqrt{5}} \cdot \frac{(\sqrt{3}+\sqrt{2})+\sqrt{5}}{(\sqrt{3}+\sqrt{2})+\sqrt{5}}$$

$$= \frac{\sqrt{3}+\sqrt{2}+\sqrt{5}}{(\sqrt{3}+\sqrt{2})^2 - 5}$$

$$= \frac{\sqrt{3}+\sqrt{2}+\sqrt{5}}{3+2\sqrt{6}+2-5}$$

$$= \frac{(\sqrt{3}+\sqrt{2}+\sqrt{5})(\sqrt{6})}{2\sqrt{6}} \cdot \frac{(\sqrt{6})}{\sqrt{6}}$$

$$= \frac{\sqrt{18}+\sqrt{12}+\sqrt{30}}{2(6)}$$

$$= \boxed{\frac{3\sqrt{2}+2\sqrt{3}+\sqrt{30}}{12}}$$